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[31] [A]
AN -1/ PART -1
917 faeprd 9 TSRS / CHILD DEVELOPMENT AND PEDAGOGY
3 : R 797 % a7 &7 & [ qag ST %y g

Direction : Answer the following questions by selecting the most appropriate option.

1. frefofed & @ d9-a G @ a8 1. Which of the following is not the
Qe 7&f & ? true characteristic of Development ?
(1) e & uRads & 2 (1) Development involves changes
(2) TP foEm wadl e @ (2) Early Development is more
S Ikcd qBr_clE{”f B § critical than later development
(3) forETE® Ye GTWTI El (3) Development Patterns are
g unpredictable
4) T H s ar B (4) There are individual differences
T in development
2. fy=ifofag & @ d-8 WA & 9 2. Which of the following is indirect
=g e oy g7 method of measurement of motives ?
(1) ar Eﬁ qbriehl (1) Sentence completion technique
(2) usgat (2) Questionnaire
(3) =% fore (3) Checklist
(4) drEEh R (4) Interview
3. ‘O GUA B SMYR FM 8 & ? 3. What are the basis of 'Self Concept' ?
(1) |rfoE e (1) Social Roles
(2) R g (2) The Body Image
(3) ST (1) T (2) (3) Above (1) and (2)
(4) ST | § B A6l (4) None of the above
Level-3/9218 P.T.O.
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[A]

4. FrfoRead & § -G T &N e

sl fame yhR e i L
7§ ?

(1) SATFBEd
(2) STIemaTat

(3) TN WE P Sied HBEES F
T

(4) T H MR W Fsw & 9
S ar

16 a4 &% AY % AR H 9R
SUCHICE IS

(1) 750 I™ & 900 TH
(2) 1200 919 § 1400 7
(3) 1000 I & 1200 IH

(4) 800 I\ & 1000 IH

P-4 TSI A SO R
Wt v’ & s A9 =@
JsTe6 & & faaem aeqq fear e ?
(1) feare

(2) SFflt Tos &ve

(3) SN

(4) G W9 e

Level-3/9218

[4]

4.

5.

6.

Which of the following is not the
characteristic of introverted thinking
type personality as given by Jung ?

(1) Self Centered
(2) Optimistic

(3) Absorbed in his own intellectual
pursuit

(4) Support Theory with facts

What is the approximate weight of
the Brain upto 16 year age ?

(1) 750 gm to 900 gm
(2) 1200 gm to 1400 gm
(3) 1000 gm to 1200 gm

(4) 800 gm to 1000 gm

Which
scientific description of 'Individual

Psychologist ~ presented

differences' in his Book 'Hereditary
Genius' ?

(1) Allport
(2) Biggi and Hunt
(3) Jean Piaget

(4) Sir Fransis Galton
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[5] [A]

7. e § | PM-G1 G9EeH @ 7. Which of the following is Direct
TE qHT © 7 Method of Adjustment ?
(1) <|9 (1) Repression
(2) gfcms (2) Regression
(3) JdErR aAqr ST (3) Withdrawl and Submissiveness
(4) gk (4) Rationalization

8. FMifofad & & @H-® Sheichll 8. Which of the following orientation
Freaedt & SN RU T Afve e falls under the post convention level
AU

R &SI @lea &) @ of Moral Development Theory

A B 7 propounded by Kohlberg ?
(1) 398 TG SHTSRIRAT (1) Punishment and Obedience
(2) GRS (2) Social contract
(3) ITH ASH /T TSI (3) Good boy/Nice girl
(4) &g 3R GmIoTh e (4) Law and Social order
9. frfafad & & F-0 Resiean & 9. Which of the following is not the
Qe 7&f & ? characteristic of Adolescence ?
(1) Germes R (1) Emotional Stability
(2) O e gqMe (2) Contrasting Mental Moods
(3) Fqa™ @t fae (3) Anxiety of Vocation
(4) 9] Pl N wE (4) Feeling of Hero worship
10. S° §M STAl P B BT o 10. A statement of knowledge or skills
fmelt et Gﬂiﬁﬁ % 9% W S that student should master after
E|Ti%'Q Hedd & instruction, is known as :
(1) A content analysis
D ﬁﬁl'&l?l'{ﬁ fagerT (2) An individualized educational
(2) gt fenm wA (IEP) programme (IEP)
(3) APRIAAE e (3) An instructional objective
(4) 9HNY @& (4) General Aims

Level-3/9218 P.T.O.



[A]

11.

12.

13.

14.

frafofea & & #=-w ot wfq @&
T TFET e 7

(1) e
(2) SfEd 4reT
(3) g

(4) T8 qERET & T8 999 W S
HET

Freifafaa & & dF-a1 99 9ga
& g A S | g
7R ?

(1) HisfeiT
(2) STgHe

(3) STFHIT
(4) STAABATED TR

Jeed 7 AHRE T F MR W
JUIHLT H AFG L TS TS
Rl H Aol U e qar § 7

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

R & AJER ‘Afde o’
%l UreEl TaR HE-E 8 7

(1) URs™ B 9M e
(2) YBdM SAM YA Hif
(3) FMear 9 faa ™

(4) IAEANTN T RerRar

Level-3/9218

[6]

11.

12.

13.

14.

Which of the following is not the
symptoms of Good Memory ?

(1) Rapidity
(2) Average retention
(3) Accuracy

(4) Recall of right material at right
time

Which of the following concept is not

related with Bandura's Social

Learning Theory ?
(1) Modeling

(2) Adaptation
(3) Imitation

(4) Observational learning

What is the ranking ratio given by
Sheldon for predominant endomorph
person according to physique ?

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

Which is the fifth stage of Personality
development according to Erikson ?

(1) industry v/s inferiority
(2) 1identity v/s role confusion
(3) intimacy v/s isolation

(4) generativity v/s stagnation
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15.

16.

17.

18.

Frefeied & @ d-a1 Fawie &
Yo GOl B O 787 o

(1) yartear
(3) TEET

(2) SgHI
(4) Afciar

frefofag & @ d9-a1 M &
gITCeh TR & YR 7e & ?

(1) Td SRR

(2) hifeh T

(3) AT TR

(4) A TR
Frefafgd & @ dH-d1 BES &N
T TGN STae & ?

(1) eeereen

(2) T@E TaET

(3) Jaraw

(4) qamaEn

e @1 % ‘mifEe Siifed

Sig-SJall & X & G s
3”7

(1) &R faferm g
(2) | HilE e
(3) Aol IR
(4) ferm S=q

Level-3/9218

[7]

15.

16.

17.

18.

[A]

Which of the following is not the

element of creativity as given by

Guilford ?
(1) Fluency (2) Incubation

(3) Flexibility (4) Originality

Which of the following is not the
type of positive transfer of learning ?

(1) Lateral transfer
(2) Sequential transfer
(3) Horizontal transfer

(4) Zero transfer

Which of the following is not the
Freud's Psychosexual stage ?

(1) Phallic stage
(2) Autonomy stage
(3) Anal stage

(4) Oral stage

Who stated that "Psychology is the
Positive Science of conduct of living
creatures" ?

(1) Sir William McDougall
(2) Sir Francis Galton

(3) Max Wertheimer

(4) William James

P.T.O.
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[A]

19.

20.

21.

frfofag & @ SF-d1 Rer m=fes
T ofeee o gl fafr 787 2 ?

(1) ga™ Recs & fafr srear dimr
o fafy

(2) ReR IEuw @l faf
(3) e srgar e e i fafy
(4) ST ARy & aRASH

‘W OFH @ ®UER, e T
YAETeH & SR S &l T SR
3 78 Frefifed & 9§ fees gfes
%l FalH e §

(1) foamst
(2) At
(3) WIS
(4) 950

(1) o

(2) STETEIIBLT
(3) TR
(4) HIIBRT

Level-3/9218

[8]

19.

20.

21.

Which of the following is not the
type of "Psychophysical Method" of
study of Educational Psychology ?

(1) The method of minimal changes
or method of limits

(2) The method of constant stimuli

(3) The method of average or mean
error

(4) Modifying
attitude

the individual

'Knowledge is constructed by

transforming, organizing and

re-organizing previous knowledge.'
This best explains the idea of which
of the following ?

(1) Piaget
(2) Vygotsky
(3) Freud
(4) Bandura

the
Development Theory of Piaget, "The

According  to Cognitive

basic building block of knowledge' is
called :

(1) Schema

(2) Assimilation

(3) Accommodation

(4) Equilibration

Download from www.MsEducationTv.com



22,

23.

24.

U IS & HAeHUH A ferenft
F TN T Be B GgI ded,
BHd H dgae  Eeed, U9 @
SgaeH U9 I HA 4 el 7 Ae|
P SgI Tl 9 ASEd a0 e
TE 8 TER & ARH MR 6B
JEEI B 7

(1) gTicHeh =T

(2) FOMHD T
(3) LI A
(4) AT ST

frffeag & & dF-& SEu @
Ty /T faRe & 7

(1) ARrei

(2) oTEq

(3) fommEn

(4) TET I Ity

s R EUN | o1 NI £ B B o
e A & e e d
dafa & °

(1) it o1 Rset

(2) 9 T gHR s

(3) F fasTa

(4) TR R

Level-3/9218

[9]

22.

23.

24.

[A]

An English teacher taught their
students that plural of Cat is Cats,
plural of House is Houses, plural of
Pen is Pens, in this manner student by
mistake made plural of Mouse as
Mouses. This is the example of which
type of transfer of learning ?

(1) Positive transfer
(2) Negative transfer
(3) Zero transfer

(4) Vertical transfer

Which of the following is objective
determinants of Attention ?

(1) Interest
(2) Habit
(3) Curiosity

(4) Duration of stimulus

Murray's "Thematic Apperception

Test" is related to which theory of
personality ?

(1) Trait theory

(2) Trait and Type theory
(3) Type theory

(4) Psychoanalytical theory

P.T.O.
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[A]

25.

26.

27.

28.

fr=ifofeg & 9§ S9-91 ‘9999 99RaS
Hedr Sl H e e SR © 7

(1) 52 8 67
(2) 36 ¥ 51
(3) 20 § 35
(4) 20 § =

Frefafad § @ aF-61 Te
Yo AR fa@rd 8 Siad Qi
YHR 78T &

an
Hl

(1) ST <15y
(2) A TEW
(3) forepeHl erw
(4) FIHT FMepd ST art S|

Ao = g1 gheer § fem #E

SENT & forg o ¥
(1) 10 2) 12
3) 15 (4) 28

Frefafad & & SiF-a1 9l &
9 @=R) 3V W ™ Akd
YR TET 8 7

(1) qa1t~®
(2) o
(3) FHATTE

(4) GerwE

gte
Hl

Level-3/9218

[10]

25.

26.

27.

28.

Which of the following is I.Q. Range of
'Moderate mental retarded' children ?

(1) 52to 67
(2) 36to 51
(3) 20to 35
(4) below 20

Which of the following is not the
type of life the
development of personality given by
Adler ?

styles  for

(1) Lazy type
(2) Ruling type
(3) Go-getting type

(4) Escaping type

How many cards are wused in
Rorschach Inkblot Test ?

(1) 10 2) 12
3) 15 4) 28

Which of the following is not a type
of Personality given by Sprenger in
values point of view ?

(1) Theoretical
(2) Economic
(3) Asthetic
(4) Athletic
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29.

30.

freifefeg & @ ®9-a1 9FeEs 3™
yed ARFT & Mor/TeEE ET § ?

(1) deqxar & fam
(2) 1rE &1 fEH
(3) A& gi &1 |
(4) ueE &l |

fr=ifoifeg & @ d9-t fpaxEn &l
el fadwar 788 ?

(1) Framaeen EI2IEE| AR
TIEHEE & S @ qRadt sTawer
g

(2) fpiaer § wh owue Juf®
feafy et 2

(3) TG JgEEET &
B B

(4) FRINEE  grdiGaett @ {HY
BT Bl

[11]

29.

30.

[A]

Which of the following is the
subordinate law of learning given by
Thorndike ?

(1) Law of readiness
(2) Law of exercise

(3) Law of mental set

(4) Law of effect

Which of the following is not the
true characteristic of Adolescence ?

(1) Adolescence is transitional stage

between childhood and

adulthood.

(2) In adolescence there is a vague
individual status.

(3) Adolescence is the threshold of
adulthood.

(4) Adolescence is a time of realism.

Level-3/9218

P.T.O.
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[A] [12]
ART- 11/ PART -1
A1 (R= ©F 3fISH) / LANGUAGES (HINDI & ENGLISH)
[ &=/ HINDI ]
3T : R g7 % a7 &7 & [ qag ST [wey g

31. foare® @M g a9 iy 35. Fr=1 ¥ @ ‘9 H w@E 78 & ?

(1) a9 o< oT¥s  Jad & (1) gdaH (2) Brl

Eﬂtﬁ %l (3) T 4) @—a
(2) TED T & T S - ,
o 5 ot 36. Slfcrareh Hel YeRd AR 7@ ©

(3) ST T 3 G'TQ' (1) STeThet &1 TeTgdl 9gd e &

(4) 39 gV T T (2) SOl A E A wEar & O
32. i gie & orger fsed T - BT

| 3) FW-F A & SrEEA

(2) AT STt 2

) (4) H orgwa fpr B 65 o8 SR @

ORI <X T B

@ 37. fd faseq # oM &Y &1 W 787
33, feim a1 gfe & o A A g ® 7

Bifex (1) s (2) arieR

(1) SS-=reT (3) e 4) e

(2) ATH-IFHEA

(3) TR 38. & A B AT HIOT :

(4) TehR-FaER (1) T& FM Fis Jhid d & B el

gl

34.2;:;1@5?‘36’%%9@1%? ©) ¥ T e B

(1) o ©2) TR (3) YA SEET &8 B H HFA B

(3) BT (4) Sfed 4) & & & A g B

Level-3/9218




[13] [A]

39. WA F 3fte ¥ oy e Bifew : 43. 59 fowea § srerisme que 7
(1) T - BT Tge OREREERE
(2) Ho-TEHN - H9ER &4 (2) FATF
(3) fe@méN - STurRH TgeY (3) ST
(4) T - HH TYEY @) @
40. qEREIT & U TH = B g |

44, TIF H g q o7 faehed I

7 P g (1) TH = TeRAH
+ =
(1) Rl o B ol o A B &
TEd FHAT - ST @) e + 3% = WS
(2) FalER T~ % a1 ST (3) ST + T = ST
e (4) TR + 3T = e
(3) o fopeit s & - ot 45. fpe fobeq & ‘oW SUEE @ FENT oM
(4) PR v Rar T ¥ - e 7
. (1) TieeRI
41, AT g 9w g ,
() et ad & g § 3@ aR” @
s it g (3) St
(2) g & der-ar T ST (4) S=D
(3) R %M Jo & FHIA B
(4) GR 3T SAHATE B I T B
42. THHH BHA AT AT T
(1) PErd |k & sl foawm © 9
(2) Bl aeme ¥ aX W@
(3) 9% H$h W AT W’ 2
OEGER CEIREHERCSIE
Level-3/9218 P.T.O.
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[A]

46.

47.

48.

[14]
[ S135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of sentence that is 49. Fill in the blank with the correct
grammatically incorrect : present perfect continuous tense :
That's twice I've been forgetting to W_ho """ o WS coming to see me
bring my diary to work this week. this morning ?
(1) That's twice (1) you should say
(2) I've been forgetting (2) did you say
3 did said
(3) to bring my diary (3) you did sai
. (4) did you say that
(4) to work this week
o ' 50. Fill in the blank with the correct
Fill in the blank with the correct f ) )
o present perfect continuous tense :
OpHon - . He ......... for five hours.
Of the two Novels, this is ............. . (1) been slept
(1) interesting (2) is sleeping
(2) more interesting (3) been sleeping
(3) interested (4) has been sleeping
(4) much interesting L
51. Fill in the blanks :
Change the narration : The growing number of visitors
He said, "I've been spending a lot | - the footpaths.
more time with my children." (1) are damaging (2) is damaging
(1) He told me that he had been (3) were damage (4) was damaged
spending a lot more time with o ]
52. Fill in the blank with the correct

his children.

(2) He told me that he is spending a
lot more time with my children.

(3) He told me that he had spent a
lot more time with his children.

(4) He said that he spends a lot more
time with his children.

Level-3/9218

present perfect continuous tense :
She is one of the few people ........ .
(1) who I look up to

(2) whose I look up

(3) T'look up to

(4) Both (1) and (3)
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53.

54.

55.

56.

Choose the option and arrange the
following sentence in the correct
order :

I.  Resigned

II. To sack him

III. Had he not

IV. We would have been forced

(H IV, 1ILILT (2) ILIL LIV
3 IV, ILLII 4) IOLLIV,II

Change the sentence into passive :
Someone has picked my pocket.

(1) My pocket is picked.

(2) Somebody picked my pocket.
(3) My pocket pick by somebody.
(4) My pocket has been picked.

Choose the grammatically correct

sentence :

(1) No reached the
station and the train arrived.

sooner Wwe

(2) No sooner did we reach the
station than the train arrived.
(3) No sooner did we reach the
station then the train arrived.
(4) No sooner did we reach the

station the train arrived.

Fill in the blank with the correct
option :

............ , they slept soundly.

(1) Hot though was the night air

(2) Hot though the night air was

[15]

57.

58.

59.

60.

[A]

Fill in the blank with the correct
present perfect continuous tense :

thinks that Julie should be
given the job.

(1) neither of us

(2) practically everyone
(3) A no. of people

(4) both (1) and (2)

To have 'a bee in the bonnet' means :
(1) to know perfectly

(2) something you are obsessed with
(3) not to take anything seriously
(4) to deviate from the point

Choose the part of sentence that is

grammatically incorrect :

The world's supply of oil is soon
running out.

(1) The world's
(2) supply of oil
(3) 1s soon running out

(4) both (1) and (2)

The word 'juncture' means :
(1) in a joyous manner

(2) to put in danger

(3) to sound harshly

(3) Hot was the night air that (4) point  rendered critical by
' t
(4) Hot although the night air was cireumstances
Level-3/9218 b1 o,
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[A]

[16]

HET -1/ PART -1l
Y 99 / GENERAL STUDIES

[ A ARG, dliche SARTEHCT TRl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

Th HT AW H, 'DISTANCE' &
IDTATOEC' fwenr omar & &R
'DOCUMENT' & 'ODDMUFTN'
foren s 8, @ 3@ WM e A
'THURSDAY' &t ferar s :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA

(4) VIRUDSZB

FAA 10 HeX I H SR @@ ol
qel §, I8 RO B IR 6 Wex T
3l B @@ @ & oY 3 Hiex Fomm
3l T M JEART fg & Hew d
fre RRam & & 7

(1) gie=m

(2) afeor-uidem

(3) SUC-TE

(4) aferer

Level-3/9218

61.

62.

In a code language, 'DISTANCE' is

written as 'IDTATOEC' and

'DOCUMENT' as
'ODDMUEFTN', then in same code
"THURSDAY' will be

1S written
language,

written as :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA

(4) VIRUDSZB

Kamal walks 10 m towards North.
From there, he walks 6 m towards
south. Then he walks 3 m towards
East. In which direction is he with
reference to his starting point ?

(1) West

(2) South-West

(3) North-East

(4) South



63.

64.

65.

66.

67.

T ¥ ¥ U WA B oHEen ¥ 5%
P ghs & TNl T oW ay F ged
5% @ F & A 51 A TR aW B
oV ¥ SHEEnr 79,800 #ft, @ e
ay & M § Sae fhaAr o ?
(1) 79,800

(2) 80,200

(3) 80,000

4) 79,600

B R A (o e | I L
1CV, 5FU, 9IT, 15LS, 170R

(1) 5FU (2) 9IT

(3) 15LS (4) 170R

a1 I A B 2 0 3 % STgu A
amwa%ﬁﬁ?ﬁSﬂ%a%wﬁ
gl 3T Sl % HA YU ©
(1) 27:20 (2) 20:27

(3) 4:9 4) 9:4

Mg X 7 gHAt Y & W owE
“fgdt Y, B0 T & O A o
37 g X, 4 Y § e @R
et & °

(1)

(2) BT

(3) ufa

4) age

qul H HH S&d SN qT U a9
H TEH IR T B
'HEARTLESS' fa+ @a—= d1efe <
§ fofora fbam o g & °

(1 1 2) 2
3) 3 “4) 4

Level-3/9218

63.

64.

65.

66.

67.

[A]

In the first year, the population of a
village increased by 5% and in the
next year it decreased by 5%. If at the
end of the second year, the population
was 79,800, what was it at the
beginning of the first year ?

(1) 79,800

(2) 80,200

(3) 80,000

(4) 79,600

of the

Find the wrong terms

following series :

I1CV, 5FU, 9IT, 15LS, 170R
(1) SFU (2) 9IT
(3) 15LS (4) 170R

The radii of two cylinders are in the
ratio 2 : 3 and their heights are in the
ratio 5 : 3. The ratio of their volumes
are :

(1) 27:20
(3) 4:9

(2) 20:27
4) 9:4

Mr. X said about Mrs. Y, "Mrs. Y is
the wife of the grandson of my
mother." How is Mr. X is related to
Mrs. Y ?

(1) Father

(2) Grandfather

(3) Husband

(4) Father-in-law

How many independent meaningful
words can 'HEARTLESS' be divided
into without changing the order of the
letters and using each letter only once ?

(D 1 2) 2
3) 3 “4) 4

P.T.O.



[A]

68.

69.

70.

71.

72.

T qher #, 27% fErd ofen #
g AR 38% fase #

W, A 19% a9 fawdr o

g, @ 2T fawdt & Sl B AR ©

(1) 46% (2) 54%

(3) 62% 4) 81%

o1 deEr 9o $ o UE B
20,20, 19, 16, 17, 13, 14, 11, 2, 2
(1) 10, 10 2) 10, 11

(3) 13, 14 4) 10,9

T FARK g9 % fqudq e 7 13
fFlt X g @ fRew § 28 Rl A
I &Y B 9R 5 HS &H W Al
B U @ R e B ?

(1) 15 fpHt /g0er

(2) 2 fepHt /gver

(3) 2V4 fopHt /gver

(4) 3 fpHt /gver

I 9m 1 q 100 d% F W Ol
ferear B, @ a5 fhaet aX 3 e ® ?

(1) 19
3) 20

A, B3 ggrd s@s C X D, E @
REEAMCHTgA T & &R
C,BA g8 a = & & a4
HIT AETF W9 ¥ FT B ?

.

2) 11
4) 21

(1) A,C q 921 Bl
(2) C,D ¥ g1 2
(3) D,C q 921 Bl
(4) E,B ¥ g1 2

Level-3/9218

[18]

68.

69.

70.

71.

72.

In an examination, 27% students failed
in English and 38% failed in Science.
If 19% failed in both the subjects, then
the percentage of passed in both the
subjects is :
(1) 46%

(3) 62%

(2) 54%
4) 81%

Next terms of the following number
series are :

20,20, 19, 16, 17, 13, 14, 11, 2, ?
(1) 10, 10 ) 10, 11
(3) 13, 14 ) 10,9

A man rows upstream 13 km and
downstream 28 km taking 5 hours
each time. What is the speed of
water ?

(1) 1% km/hr
(2) 2 km/hr
(3) 2% km/hr
4) 3 km/hr

If Shyam writes down all the integers
from 1 to 100, then how many times
does he write 3 ?
(1) 19
(3) 20

2) 11
4) 21

A 1is elder to B while C and D are
elder to E. E lies between A and C
and C is elder to B, then which of the
following statements is necessarily
true ?

(1) AiseldertoC.
(2) Ciselderto D.
(3) Diselderto C.
(4) Eiselderto B.

Download from www.MsEducationTv.com



73.

74.

75.

76.

M, T, R, K 3R D & ya@% & @ar
TR, M Bad T @ 8l & iR D
dad K @ o« 31 =9 9 dEq 999
qaT AfRT HIF 8 ?
1) T (2) D
3) M 4 R
b))
42 32 C2 UG CIC TR
3 1
b))
4 3
2
11
(1)2E
1
(2)2E
11
6)315
1
(4)3E
g Y g, U @ ooy SEh
&l # fo @t e ad g,
U &l g I T B Ag W 7
T e R & e oy
(1) 40 a9 (2) 30 a9
(3) 50 a9 (4) 4599

& A R Y R W I &
T I F V& ol SHB A
ufye feem & &R B SHH 94 B
fPa Ram A 2 ?
(1) S
(3) uit=H

(2) aferor
4) g

Level-3/9218

[19]

73.

74.

75.

76.

[A]

Among M, T, R, K and D, each
having a different height, M is shorter
only from T and D is taller only from
K. Who will be the third tallest person
among them ?
T

3) M

(2) D
4) R

The square root of

is equal to :

11
1) 2—
(1) )

1
@3-

After 5 years, father's age will be
three times of his son's age. 5 years
ago, father's age was 7 times of his
son's age. The present age of the
father is :

(1) 40 years
(3) 50 years

(2) 30 years
(4) 45 years

A man is performing yoga with his
head down and legs up. His face is
towards the west. In which direction

will his left hand be ?
(1) North (2) South
(3) West (4) East

P.T.O.
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[A]

77.

78.

79.

80.

(1) 15 o & T8
(2) 12 Mo & T
(3) 14 fio 3 18
4) 16 o & T
10% aiffes &I9 & W Srsdmal

THIRE A T 800 BWY P TH T
926.10 T fhas ag § a9 W ?

(1) 399 ) 1 ag

(3) 4% T8 4) 2 a9

8, 15 X 24 § fauig am am
FAH I eI IR B

(1) 120

(2) 1800

(3) 3600

(4) 6400

I 6 YT A f9hT gd, 8 Al & A

ﬁ%w%,a‘rwmﬁqﬁm
qe:

(1) 25% @™
(2) 25% &

3) 33%%@%

“) 33%% SIk

Level-3/9218

77.

78.

79.

80.

Two taps A and B would fill a tank
completely in 30 and 36 minutes
respectively. Both  taps being
opened, find when the tap A must be
turned off so that the tank must be
just filled in 18 minutes ?

(1) after 15 minutes
(2) after 12 minutes
(3) after 14 minutes
(4) after 16 minutes
In how many years will a sum of

Rs. 800 become Rs. 926.10 at 10% per
annum interest compound half yearly ?

(2) 1% years
(4) 2 years

(1) 3 years
(3) 4%z years
The least square number, which is
divisible by 8, 15 and 24 is equal to :
(1) 120

(2) 1800

(3) 3600

(4) 6400

If the selling price of 6 pens is equal

to the cost price of 8 pens, then
profit/loss in percentage is :

(1) 25% profit
(2) 25% loss

(3) 33 % % loss

4) 33 % % profit

Download from www.MsEducationTv.com



81

82.

83.

84.

85.

. BWEEn % 9 Med 63 [
RN & A (STeE) B & 7

(1) foeprg e

(2) T G
(3) dio == 4

(4) o dlo THo THo UG
BRAT 3G FERH & U DA © 7

(1) YT AT
(2) & q8q
(3) =X B
(4) gI A+

gRam § I gHE # U HEl
arafed B 7

(1) BEERE (2) H-Id

(3) &I (4) UeqH
HHTaT Tt § @l uew faoidr @l
BRI FRhR &N &1 o ardl Joehd
i B :

(1) I &3

(2) & Fg

(3) YEETY @

(4) ST g

1857 % fEle & RN Asasd @
foreedier @I o ?

(1) 99 e
(2) s=go &
(3) T=H A=
(4) BBET

Level-3/9218

[21]

81.

82.

83.

84.

85.

[A]

Who is the Chairman of the newly
constituted  6th  State  Finance
Commission of Haryana ?

(1) Vikas Gupta

(2) Rajesh Khullar

(3) P. Raghvendra Rao

(4) T. V.S.N. Prasad

Who is the vice-chairman of Haryana
Urdu Academy ?

(1) Gopichand Narang

(2) Kumud Bansal

(3) Chander Trikha

(4) Suraj Bhan

Where is the palace of Begum Samru
located in Haryana ?

(1) Faridabad  (2) Sonipat

(3) Gurugram (4) Rohtak

The award is given by the Haryana
Government to the gold medal winner
in the Commonwealth games :

(1) Three crore

(2) Two crore

(3) Seventy Five lakh

(4) One & half crore

Who was the Collector of Rohtak
during the uprising of 1857 ?

(1) Thomas Semton

(2) W. Eden

(3) Adam Loch
(4) Hudson

P.T.O.
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[A]

86.

87.

88.

89.

90.

g T, S TR &l g ©

(1) AT

(2) Hifest

(3) TeA

(4) F=1

feapt i@ eRaen & fpe R #
R B 7

(1) e

(2) daga

(3) B

(4) o

B fqerEe, S oStRsR 2019 &
A & € TMed B W D ¢

(1) 124t (2) 134t

(3) 144t (4) 15dt

fisT ®RMe @ B B 7 R UKl
@R & GG o T B ?

(1) 2T STaE

(2) S e

(3) TSE M T I A

(4) A< Iae

fFg TeX & IR M Fe o ?

(1) Fe=T%
(2) STl
(3) o

(4) GF9q

[22]

86.

87.

88.

89.

90.

Rivulet, which is one of the tributary
of Ghaggar :

(1) Chautang
(2) Sahibi
(3) Dohan
(4) Indori

In which district of Haryana "Tikkar
lake' is located ?

(1) Rohtak
(2) Panchkula
(3) Karnal
(4) Kaithal

The assembly of Haryana, which has
been constituted after the election of
October, 2019 :

(1) 12%
(3) 14"

(2) 13"

4) 15"

Vinesh Phogat is recently honoured
with which National Award ?

(1) Dronacharya Award

(2) Arjuna Award

(3) Rajiv Gandhi Khel Ratna Award
(4) Dhyanchand Award

Which city has its ancient name as
Kanaud ?

(1) Mahendragarh
(2) Ambala
(3) Kaithal
(4) Sonipat

Level-3/9218
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[23] [A]
AN -1V / PART = IV
TG / MATHEMATICS

3T : R g7 & g7 &7 & [ qag ST [Awey g

Direction : Answer the following questions by selecting the most appropriate option.

91. IAFT  THIHI (1+eX/y)dx + 91. Solution of differential equation
X .
eX/y(l—ﬁJd):OEﬁr =Y. (1+eX/y)dx+eX/y(1—;jdy=Ols:
y
(1)t e = (1) e ye™ =
@) y+xe*? =c ) y+xe=c
(3) y—xe”V =¢ (3) y-xe”V =¢
(4) x—ye'¥=c 4) x—ye*'Y =¢
92. IR’ W@ Ix + my + n = 0, SHaq 92. If line Ix + my + n = 0O touches the
ax* +by2 =1 F W B, T ellipse ax* +by2 =1, then:
(1) n®=a**+b*m? (1) n®=a*%>+b*m?
12 m2 2 12 m2
2) nt=— 4 2) nf=—4-—
(2) P 2) i
12 m2 2 12 m2
B n’ =5+ @) ni= 4+
27 2 27,2
4) n*=al+bm @) n*=al+bm

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218 P.T.O.
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[A]

93.

94.

AT A(a, 0) T B(—a, 0) A R &g &
T g P &l f&guy, S 39 SR T
#@ = & (PA)? —(PB)* =4d°
21T :

(1) q%1 @

() ga

(3) Tawd

(4) EHg

2
s j((xZ_ 11))2 dx =tan"' x + g(x)+c,
X"+

dl g(x) =

1
(1)
X2 +1

2)

3)

“4)

[24]

93. Let A(a, 0) and B(—a, 0) be two fixed

94.

points. The locus of variable point P
which moves in such a way that
(PA)? —(PB)? =4a® is :
(1) Straight line
(2) Circle
(3) Parabola
(4) Ellipse
(x=1)°

If
.[ (2 +1)2
then g(x) =

1
(D
x> +1

-1 i
(2) tan (2)

1
2(x% +1)

1
2(x+1)

dx=tan"' x + g(x)+c,

3)

4

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218
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95.

96.

0 O S G B 5 o | R
T & ga B -

(1) T % AEqis 9§ R
HA

(2) T # SRR ged ) SI) &

(3) T % WiEphr g H URfE
BT

(4) TOMT FHAT R

He3AEE r = a(l + cos 0) B TRFNH
W@ F G UIGHHT § NG ol @l
AT T R

(1) 2md’ 2) %na3

(3) %mﬁ (4) §m3

[25]

95.

96.

[A]

Means and ways of arousing and
maintaining interest in mathematics
teaching can not be :

(1) To acquaint with the commercial
values of mathematics

(2) To emphasize the
utility of mathematics

practical

(3) To acquaint with the cultural
value of mathematics

(4) To teach calculations

The volume of the solid generated
by the revolution of the cardioid
r = a(l + cos 0) about the initial line

is equal to :

(1) 2ma’ @) %na3
4 3 8 3

3) —Tma 4) —Ta

3) 3 “4) 3

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218

P.T.O.
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[A]

97.

98.

99.

10
s x2—5x+1:O, ar al +1=

5

x

(1) 2424 (2) 3232

(3) 2525 (4) 2323
(cose+isin 6}4 _
cos@—isin®

(H) 1

(2) 0

(3) cos 40 —1sin 40
(4) cos 80 + 1 sin 80

DI f(x)zloge(x+m), ar

Flx) TR
(1) e —e (2) e +e
2
(3) ex—e_ (4) €x+€_x
e +e e —e

[26]

97.

98.

99.

10

If x> —5x+1=0, then ~ 5”:
x

(1) 2424 (2) 3232

(3) 2525 (4) 2323

(cosG+isin9j4 B

cosO—isinB
(N1
2) 0

(3) cos46 —1sin 46
(4) cos 80 +1 sin 80

If f(x)zloge(x+\/1+x2), then

f _l(x) isequal to :

x_ —X X —X
0 e 2e ) e +2@

et —e " e’ +e*
© e’ +e * et —e

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218
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[27] [A]

100. % x° y2 =a?|x? + yz) % ST- 100. Number of asymptotes of the curve
WA B GEr ® xzyzzaz(x2+y2) is
(1) 3 (2) 1 (1) 3 ) 1
(3) 4 4) 2 (3) 4 4) 2
101, (20x> -9x+1)' & @R & % & 101. The coefficient of x> in the
T § ¢ (78 il < 1) expansion of (20x% —9x+1)7lis :
5 1
(1) =20 2) 20 (Here Ixl < g)
(3) 61 4) 60 (1) =20 (2) 20
(3) 61 4) 60
102. 2/ —}+I€ AR 37 +4}—I€ @ NESER| 102. Unit vector perpendicular to
s%‘aﬁsn%: 2?—}+I€ and 3z°+4}—l€is:
20— j+3k 20— j+3k
(N ——— (1 —~L—
s s
i+ j+k —i+j+k
2) ——— 2 —L—=
N N
) —3i+5]+11k ) 30 +5]+11k
\155 V155
—3+4]-3k 3 +4j-3k
@) —=——— @) —=———
T34 34

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218 P.T.O.
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[A] [28]

103. IR P(A) = 0.4 3R P(B/A) = 0.5, @ 103. If P(A) = 0.4 and P(B/A) = 0.5, then
P(AUB) = P(AUB) =
(1) 0.6 (1) 0.6
(2) 0.7 (2) 0.7
(3) 0.8 (3) 0.8
(4) 0.9 (4) 0.9
104. IR n=""C,, @ "C, = 104. If n=""C,, then "C, =
1 "e, 1 ™c,
2 "'cy @ "¢,
3) m+2C4 3) m+2C4
@ 3(c,) @ 3("c,)

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218
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105.

106.

107.

frg Al2i+s5j+7k) & fg
B3I +7j+2k) W& B @ @
fenita & fom S8 # W A
T S 3 +2)-2k TN B T
P B

(1) 31 3% (2) 29 FH
(3) 9 =R (4) 30 3%

@k p = b sin ¥ cos y Bl askal BT

D p 2) 2p

3
() =3p “4) P

X X2 X3

T+,
1.2 34 56

(1) s, 3 x< 1
(2) AREM, A x> 1
(3) ouEr], A x< 1
(4) ouEr, g x=1

[29]

105.

106.

107.

[A]

The work done by the force

30 +2j—2]€ to displace a particle
from point A(— 20 +5]+ 7/2) to
point B(3f+7j+21€) is:

(1) 31 Units
(3) 9 Units

(2) 29 Units
(4) 30 Units

The radius of curvature of the curve
p=bsinycosVyis:

Hp (2) 2p
3
(3) -3p @) —p
2
2 3
The series i+x—+x—+ ..... ,
1.2 34 5.6
x>0i1s:

(1) convergent, if x< 1
(2) convergent, if x> 1
(3) divergent, if x<1
(4) divergent,ifx=1

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218

P.T.O.
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[A]

108.

100.

g GRB (D3 +3D2 +2D)y = 22
P AT FHERT ©

1« 7x
W 5[?*7‘7]
2 -

3)

“4)

TR M 2x + vy + z = a;
xX—=2y+z=b;x+y—-2z=c%l &
AAfEaE B, A

(D a+b+c=0

(2 a=b=c

(3) a=2,b=2,c=-2
(4) oMfEiE &@ w¥9a T8 8

[30]

108.

109.

Particular Integral of the differential
equation (D3 +3D% + 2D)y =x? is:

3 2
(1) L[ X3 Tx
20 3 2 2

3 2
@) L[ X3 Tx
2 3 2 2

3 2
(3) L X2 Tx
31 3 3 2
@ L[X 3 Tx
20 3 2 2

The system of equations —2x + y + z = a;
X —2y+2z=b;x+y—2z=chas
unique solution, if :

(D a+b+c=0
2)a=b=c
3)a=2,b=2,c=-2

(4) Unique solution is not possible

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218
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1 21 r
110. lim — E =
n—e N2y \p? 4 2

(1) —1++2
2) 1++2
3) —1+5
@) 1+5

111, “Tord |1 fosi &1 Rigar qen ol
3", 98 Pu fpe foam ?

(1) g
(2) JdiicrEs
(3) BNTeH
(4) TS b

[31]

110.

111.

12 r
lim — ) — =
e M \p” +r

(1) —1++2
2) 1++/2
(3) 1445

4) 1+45

[A]

"Mathematics is the gateway and key

of all the Sciences". This statement

is given by whom ?
(1) Dutton

(2) Napoleon

(3) Hogben

(4) Roger Bacon

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218
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[A]

12, wF =i & ) & 3
¥ 3 9] 99 9 2

v & ow

3) 4)

113. (1+i)" &I & 90 8 :

(D 2112 cog I
2
2) 2" cos
2) 1
(3) 272 cos M
4

4 2”/2005%

[32]

112.

113.

A man is known to speak truth 3 out
of 4 times. He throws a die and
reports that it is a six. Find the
probability that it is actually a six :

1
ey 2 2)

4

3
3) 2
(3) g
The real part of (1+i)" is:

(D 2112 cos I
2
2) 2" cos Tt
(2) 1
(3) 272 cos M
4

4 2”/2005%

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218
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[33] [A]
1 1
4. 3ig (a+ib)3 =x+1iy, ar 14, If (a+ib)3 =x+1iy, then
4(x2 _yz) _ 4(x2 _yz) _
b
a1 £42 2 242 1 4+2 2 X+
Xy a b x y a b
3) ax + by (4) ax —by 3) ax + by (4) ax —by
15, AR y(x) = [(1+2x+3x% +...)dx, 115, If y(x) = [(1+2x+3x" +...)dx, bl <1
l<1Td y(0)=0,d y(x)®H 99 & : and y(0) =0, then y(x) is equal to :
1 X 1 X
- 1) — 2) —
(1) - 2) . (1) - (2) s
1 X 1 X
(3) (3)
(1-x)2 (1-x)> (1-x)° (1-x)*
116. IR FHHOT 3x2 +2x+ p(p—1)=0 116. If the roots of the equation
%ﬁﬁqﬁﬁﬁ@?%ﬁ,ﬁi 3x2+2x+p(p—1):O are  of
opposite signs, then :
(1) pe (~o,0) PPOSIIE SIE
X o1 (1) p€ (=00, 0)
@ pe®b @ pe©.1)
©) pe (=) (3) pe (1)
4) pe (4,) 4) pe (4,)
% & P T SFIE/SPACE FOR ROUGH WORK
Level-3/9218 P.T.O.
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[A]

@:y\/yz—l,

117, 39ahd ﬂ'lﬂw
dx xVx? -1

2
)=~ HEA B :
RENE
(1) y:sec_lﬁ—sec_1 2x
V3

2) y= sec_l(sec x4+ %j

(3) y=sec (sec_1 x— Ej
6

(4) y=sec (sec_1 x+ zj

118. 7R siny = (1 + x) sin (1 + y), A
dy _
dx
(1) sin (1 +y)
)
sin“(1+
) S0+
sin1
sin(1 +
(3) Snd+y)
sin y
sin y

@ sin(1+ y)

[34]

117. Solution of the differential equation

dy Wy -1 . 2
— =—F—— with y(2)=— is:
dx e x? -1 V3
(D y:sec_lﬂ—sec_lbc

V3

2) y= sec_l(sec X+ %)
(3) y=sec (sec_1 X —Ej
6
4) y=sec (sec_1 x+ 73?]
118. If sin y = (1 + x) sin (1 + y), then
dy _
dx
(1) sin(1+y)
-2
sin“ (1+
@ Sdry
sin 1
sin(1 +
(3 )
sin y
sin y

X sin(1+ y)

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218
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119.

120.

121.

R @S ax + by = ab T bx + ay = ab

% ufese g w@ R (a, b) § TR
I Y@ B T B (SRl @ #b)

(1) a’x+b%y=ab(a+b)

2) azy—bzxzab(a+b)

(3) a’y-b*x=ab(a-b)

4) a2x+b2y=ab(a—b)

A& f: R — R, T&1 R awdfas aeaml
& g, 3™ MR ¢ %
fy=e", @[

(1) PId STBEH B

(2) Bad THH &

(3) THHI-TBEE &

(4) 7 @ TH T AR T & BES 2

Ik A ={(x, y) | y =e*, x € R},

B={(x,y)ly=x,xe R}, @ :
(1) BcA 2) AcB

B)ANB=0 4 AuB=A

[35]

119.

120.

121.

[A]

Equation of a line passing through
the point (a, b) and the point of
intersection of lines ax + by = ab and
bx + ay = ab, will be (where a #b) :

(D a2x+b2y:ab(a+b)
2) azy—bzxzab(a+b)
(3) a*y-b*x=ab(a—-b)
4 a2x+b2y=ab(a—b)

If f: R —> R, where R is set of real
numbers, such that f(x)=e", then

fis:

(1) surjective only

(2) injective only

(3) bijective

(4) neither surjective nor injective
Let A ={(x,y)|ly=¢e", x € R},
B={(x,y)ly=x,xe€ R}, then:

(1) BcA 2) AcB
B3)AnNnB=¢ 4 AuB=A

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218

P.T.O.

Download from www.MsEducationTv.com



[A]

122.

123.

1 m— —1
j dx, m>0,n>0=
o (I+ x)
) L'(m)I'(n)
I'(m+n)
@) 2 (m)IN(n)
I'(m+n)
3) I'(m)I'(n)
2I'(m + n)
) I'(m+n)
['(m)I'(n)

G=({0,1,2,3,4,5)+¢) T T B

GFd 5 H Fife (order) &
(1
2) 3
3) 5

“4) 6

[36]

122.

123.

1 m— —1

I dx, m>0,n>0=
3 1+x)m+n

I'(m)I'(n)

I'(m+n)

2 (m)I'(n)
I'(m+n)
I'(m)I'(n)
2I'(m + n)
I'(m+n)
I'(m)I'(n)

)]

)

3)

“4)

G=({0,1,2,3,4,5},+¢) is a group.

Orderof S1is:

(H 1

2) 3

3) 5

“4) 6

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK
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[37] [A]

124. I A, B, C X D % i 124. If coordinates of points A, B, C and D
3, 5, -3), (2, 3, —-1), (1, 2, 3) AR are respectively (3, 5, =3), (2, 3, -1),
(3,5, 7% @ : (1,2,3)and (3,5, 7), then :

(1) ABLCD (1) ABLCD
(2) ABICD (2) ABICD
3) AB @R CD % 91 9 % g (3) Angle between ABand CD is %
4) AB @R CD % 91 9 % 2 (4) Angle between ABand CD is g

125. fhEN ‘oW & 97 & WeY e ? 125. Who proposed "cone of experience" ?
(1) R 3d 1 (1) Edger Dale
(2) %S A (2) Freud
(3) S 3 (3) Allport
4) Baa I (4) Frobell

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218 P.T.O.
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[A]

126.

127.

U q9a9 @R &g (a, b, ¢
g ud 7l H FAA A, B
FEd ol qANg T A, B

TR a1 T & SR Bl (<gae

) | IRl
AN C W
AN C 9

21T :

Wy2=x3@TWy=2xm
RES 8% IS © ¢

@ 1

16
1) —
(1) 3 5

8 8
e 4) 2
3) 3 4 5

[38]

126.

127.

A plane passes through the fixed
point (a, b, c¢) and cuts the
coordinates axes respectively in A, B
and C. The locus of the centre of the
sphere passing through origin and A,
B and C will be :

M 424221
a b c

@ T+2+i=2
a b c

3 4ebicy
X y z

@ 4ibicy
X y z
The area bounded by the curve

y2 = x> and the line y=2x1is:

16 16
(D 3 2) 5
8 8
3) 3 “4) 3

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218
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128.

129.

a’b? - (a'xb)? =

= =09

(1) (a.b)

%

2) (@+D).(ad—b)
(3) (a-b)
4) (d+D)>
R a, b, ¢ T RS TG TR

@l“ﬁﬁa,ﬁfﬂﬁw ax® +2bx+c=0
AR dx? +2ex+f=0 B T A

[39]

128.

129.

[A]
a’b? —(dx b)? =

A2

(1) (d.D)

- =

2) (a+b).(d—Db)

3) (a—-b)*
4) (d+b)?

If a, b, ¢ are positive real numbers
which are in G. P., then the equation

ax?> +2bx+c=0and dx*+2ex+ f =0

e de |
W@‘“’qﬁ%é’% 3 - have a common root, 1fa’b’c are
in:
(1) gAY Ao | (1) A.P,
(2) T S | 2) G.P
(3) & Aon A (3) H.P.
(4) @0 & § B T (4) None of the three
% P B folT STTE/SPACE FOR ROUGH WORK
Level-3/9218 P.T.O.
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[A]

130. T AT H 10 &rit X 5 9% T

131.

3 AT TF F & T el Sl o
AR Tedl T T F M @ 9w
qUE e W S 31 AW e B
HAT H F TS Na B e

qoEe ®, d a9 @i g e
B T AR & 7

S}

ey )

3) 4

Sl
_Q|lon 9w

A G Th ST b T 8, -

(1) G& =1 % ©
(2) GH Th 5% ©
(3) G% A 7% &

(4) G&% T % &

[40]

130. An urn contains 10 black and 5

131.

white balls. Two balls are drawn
from the urn one after the other
without replacement. What is the
probability that both drawn balls are
black ?

ey 2)

3) 4

[ A QN
_Q|lon 9w

Let G be an infinite cyclic group,

then :

(1) G has infinitely many generators
(2) G has one generator

(3) G has two generators

(4) G has three generators

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218
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132.

133.

134.

135.

tan 20° + 4 sin 20° F A9 & :
1
1 3 2) —
(1) 3 (>ﬁ
1
3 2 4y —
(3) V2 <>ﬁ

27tan”@+3cot’ 0 H [AGH HM
g
19

(2) 18

(3) 27 4) 30
I :+jl:=x+iy, @ L=

— 4 y

(H o 21

5 4

= 4) =

3) 2 4 5

Waed (y-2)2=x-1, Wa@d W
Rerd faeg (2, 3) W di=A E st @
Td & (x = 0, y = 0) § WNes &7
& B B ¢
(1) 4 56
(3) 3aW FHE

(2) 5 T TR
4) 2T 33

[41]

132.

133.

134. If

135.

[A]
The value of tan 20° + 4 sin 20° is :

(1) 3
(3) V2

1
2_
SANE

V2

The minimum value of
27tan2 0+ 3cot? 0 is :
() 9 (2) 18

(3) 27 4) 30

4+3i . X .
-=x+1iy, then — isequal to :
3-4i

(1) 0

2) 1

5 4
3) — 4) —
3) 1 “4) 5
The area bounded by the parabola
(y —2)2 =x—1, the tangent to the
parabola at (2,3), x=0and y=01is:
(1) 4 sq. unit (2) 5 sq. unit

(3) 3 sq. unit (4) 2 sq. unit

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218

P.T.O.
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[A] [42]

136. &9 f(x) = \/ IOgm(SX_ XZJ H 136. The domain of the function
4 Sx—x2 ) .
id % : f(x) = _[log 4 1S
(1) [0, 5] (2) [1,4] (1) [0, 5] 2) [1, 4]
3) [1,2] 4) [0, 1] 3 [1,2] 4) [0, 1]
137. IR} y= I(loge x)zdx g (1, 2) # 137. If y= I(loge x)zdx satisfies  the
Y HC g, point (1, 2), then :
Y
(1) %—2:10};6 x(log, x +2) (1) =-2=log, x(log, x+2)
Y
) %+ 2 =log, x(log, x +2) (2) = +2=log, x(log, x+2)
Y
3) %— 2 =log, x(log, x —2) (3) = —2=log, x(log, x~2)
Y
) % +2 =log, x(log, x—2) (4) ~+2=log, x(log, x~2)

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218
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138. fy=ifoifeg & & $9-91 guad, @0

139.

x—-2 y-3 z-4
3 4 5

® g ® ?

(1) 2x+3y+4z= /29
(2) 3x+4y+57=52
(3) 2x+y—27=3
4) 2x—y+27=3

e x = a(l + cos 20) sin 26;

y = b(1 — cos 20) cos 26, A dy _
dx

)]

—cot0

étane
a

2)

sin 20 — cos 20
cos 9

3)

Q|

“4) 2
b

[43]

138.

139.

[A]

Which of the following planes is
x=2 y-3

4

parallel to the line
_e4,

5
(1) 2x+3y+4z= /29
(2) 3x+4y+57=52
3) 2x+y—-2z=3
4) 2x—y+2z=3

If x =

y = b(1 — cos 20) cos 20, then ? =
X

a(l + cos 20) sin 26;

écote
a

ey

étanG
a

2

(3) é sin 20 —cos 20
a cos O

(COR

—sinB
b

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK

Level-3/9218
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[A]
140.

141.

142.

143.

™ g ¥ g@ a7y’ 14+
2y + 25 =0 W q WY W G
W d e AW st Xwel & e
T B
(1) 0°
(3) 45°

(2) 30°
(4) 90°

Ik TH EUE AN W ST UG AT
79 U HA: 7 TE 5 B, o 3H@
35af 9% BT :
1) 2 2) 1

1 1
3) — 4) =
(3) 33 4) 5

I QGrel ded & 91 m 8, qA qHE
forereT SR R

(1) m 2) m

(3) m? 4) m(m—1)
TWaed  y2+4x+4y-3=0 @
foear 2 ¢

(1) 4x=11y () 1lx=4y

(3) 4x =11 4) 4y =11

[44]

140.

141.

142.

143.

Two tangents are drawn from the
origin to the circle X%+ y2 —14x+
2y + 25 = 0. Angle between these
two tangents will be :

(1) 0° (2) 30°
(3) 45° (4) 90°

If 5th term and 7th term of a
harmonic progression are respectively
7 and 5, then its 35th term will be :

(1) 2 2) 1
1 1
- 4) —
3) 35 “4) 5

If mean of the Poisson distribution is
m, then standard deviation is equal to :

(1) m @) m

3) m’ (4) m(m—1)
Directrix of the parabola
V2 +4x+4y-3=0 is:

(1) 4x =11y (2) Tlx =4y

(3) 4x =11 4) 4y =11

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK
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[45] [A]
144, “ggq @il TPM S & 999 I8 144. "It is more useful to know how to
AT 3% SUERT B P i mathematise than to know a lot of
9 P S T8 Fee fee e mathematics." Which mathematician
HT? stated this statement ?
(1) g (2) ST i (1) Ramanujan  (2) George Polya
(3) e DX (4) TAFIRE (3) David Wheeler (4) Pythagoras
Jx Jx
145. IR x=3-4/5, @ 145. If x=3—+/5, then
\/_+\/3x \/_+\/3x
(1) 5 2) 5 (1) 5 ) 5
1 1 1 1
3) = 4) —— 3) = 4) ——
3) 5 4) NG 3) 5 4) NG
146. 3fd Ho Yo Yo (858, 325) = 858m + 146. If HCF (858, 325) = 858m + 325n,
325n, @1 : then :
(1) m=11,n=-29 (1) m=11,n=-29
2) m=29,n=-11 2) m=29,n=-11
B)m=11,n=29 B)m=11,n=29
4) m=-29,n=11 4 m=-29,n=11
3 00 3 00
147. IR A=|0 3 0Of, ar A= 147. If A=|0 3 0}, then A’ =
0 0 3 0 0 3
(1) 243 A 2) 81A (1) 243 A 2) 81A
3) 27A 4) 9A 3) 27A 4) 9A
% &4 B ﬁl‘! S{T[@/SPACE FOR ROUGH WORK
Level-3/9218 P.T.O.

Download from www.MsEducationTv.com



[A]
l+x 1 1
148. g |1 1+x 1 |=0d;x=
1 1 1+x
(1) 0,1,3 ) 0,1,-3
(3) 0,-3 “4) 0,3
149. @R x=0,y=0qMx+y—-1=0
q FHT B &1 &b © ¢

2 2 2
I
11 1
o (L) (o)

150. AR f(x)=x", x > 0 MO TN
=,

(1) x>t

2) x>e

B)x>e+1

4) x>1+21
e

[46]

148.

149.

150.

1+x 1 1
If |1 1+x 1 |= 0, thenx=
1 1 1+ x
(1) 0,1,3 2) 0,1,-3
(3) 0,-3 4 0,3

The centroid of a triangle formed by
thelinesx=0,y=0andx+y—1=0is:

2 2 2
023 o
11 1
o (L) (o)

If f(x)=x", x > 0 is strictly
increasing, then :

(1) x>t

2) x>e

(3) x>e+1

4) x>1+1L
e

% &4 B ﬁl‘! S [8/SPACE FOR ROUGH WORK
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U b SR, SR Uoh § uiRd @Ml @1 Pl il 6. Answers to questions in answer sheet are to be given by
wge 9 9 AT 2, orr T S fexamar w2 darkening complete circle using Black ball point pen as

shown below :

® ® @ O @ B ®
(SRRl

3Mq gINT_faar T IR e ST, I IR AT The answer will be treated wrong, if it is marked, as given below :
A BT P TPR A R E & g

i3 o | SUET WHl $ WR T & Al TSI AR Terd If you fill more than one circle it will be treated as a wrong
HET ST | answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. X% B W—gﬁﬂfm H 39 waoN ® fog & TS @rell g W& BN | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bacl OMR TR T3d WR 8l 3ifdhd P | 30 IR LIHYdd 3Afhd B | IR G 2g 29d Joid (Ahe Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. UAE T & fore Ry T g Rwedt # 9 3Ifaa fawer & fow OMR STR 956 W &de Uh gd &I & T RE Blof ard

wEge U9 9 W | U6 IR SR Afhd F9 & 915 99 gl 78l ol AhdTl ¥ 1 (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gad o {6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M 7 M | 3pgedi 301 IghHld SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT Td IR TS BT SAFYED JANT By, Fifd & aRRefT # (se—gRaer wd SR v9@ & HAie 3 e
o1 Rafq &1 Breaw) W U Eﬁﬁ?ﬂ e SUALT T8l FHRATS SITgT | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

W—W/W CEC fev U HHIG BT et TE TN I sFER de H ford | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

ameﬁaﬁqﬁmgm/maﬁmwsﬁ?mﬁwa§aﬁrﬁaﬁﬁﬂﬁwaﬁm |Jrl, gfad A1 sRforiad BrTSl Bl
Ufedf, SR, AaIgd WF, Sdgiie UG I B 3 UBR B GEEH DI of S AT STAN HRA DI AT T8I © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TIed gRT I8 oM W UAd gl 30T Y%l & (I o) 3R Ugamd U= =i | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT wded B A Gquf?f P 77 DI el QAT I 7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PIRIRT YAAETH BT YOI STR UAP (U a1 v BeeR a1 WR IIART SRIER by {41 angedl uller sfe el uisi | afe
PRl ongefl 7 g AR BRMER 91 W BWER T8l by 1 I8 AF1 oMQ b I SR UAG T8l Al § AR I8
JfAd | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat gmr 9 w19 & o &1 feme
mméligwmﬁsmwﬁwwwmmﬁwmﬁsmﬂﬁmmﬁammmhmaﬁ
AT T A g8d 8 g 7 8 §gd | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagih / BTalferd URded & SUANT affd 8 | (Use of Electronic/Manual Calculator is prohibited.)

e 8T § SR & oy, sngefi fGarfrer § & v uftar /Ry g ars & @ el v fafaEr o ey eam v |
g WREl & W AWl @ BEen dis & Ml Ud fafRmi & SR BN (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W w9
W—m P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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